S . .
b Bipin Nambiar Shiraz Khan Kuldeep Yadav
o (SBI PO 2018) (SBI Clerk 2018) (SBI PO 2018)

Rajat Saxena Anupam Tyagi
(IBPS Clerk 2018) (IBPS PO 2018)

FrienDs! , ’
WE USED TESTZONE
AND CRACKED BANK EXAMS

6 qgRznsn @ fae Gdaa
‘ ‘ Y A A A Aleb
ek A=

IT’s YOUR TURN NOW
TAKE A FREE MOCK TEST

N\ | /
@ Smartkeeda = 7 .

= The Question Bank -

y

-— 4 - <



https://testzone.smartkeeda.com/Test/Pricing

Number Series Questions for LIC Asst. Pre.
Quiz 4

Directions: Find the missing term in the given series.

1. 10 11 24 75 ? 1525

A. 284 B. 304 C. 324 D. 288

2. 264 268 ? 284 300 324

A.272 B. 274 C. 276 D. 278

3. 4 8 32 ? 1536 15360

A. 192 B. 148 C. 202 D. 224

4, 2 34 62 104 ? 23

A. 16 B.12.5 C. 22 D.21

5. 628 160 44 ? 10 95

A 12 B. 14.5 C. 16 D. 22

6. 3 5 13 21 49 ?

A.99 B. 89 C. 109 D. 117

7. 43 331 475 547 583 ?

A.591 B. 601 C.585 D. 598

8. 3 8 16 ? 33 38

A. 22 B. 27 C.25 D. 29

9. 2 3 6 15 45 ? 630

A.195.25 B. 157.5 C.225.5 D. 1455

10. 6474 1074 210 ? 12 3

A.33 B. 44 C. 48 D. 66
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. None of these

. 186

.12

.18

. None of these

. None of these

. None of these

. None of these

. None of these




Correct Answers:
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Explanations:

1.
Series Pattern Given Series
10 10
10x1+1 11
11x2+2 24
24 x3+3 75
75 x4+ 4 304 v
304x5+5 1525
Hence, option (B) is correct.
2. Series Pattern:
Series| :264 268 274 284 300 324
Series Il : +4 +6 + 10 +16 +24
Series Il : +2 +4 +6 +8
Series IV : +2 +2 +2
Hence, option (C) is correct.
3.
Series Pattern Given Series
4 4
4 %2 8
8x4 32
32x6 192 v/
192 x 8 1536
1536 x 10 15360
Hence, option (A) is correct.
4,

Series Pattern Given Series
2 2
2+1.4=34 3.4
34+28=6.2 6.2
6.2+4.2=104 10.4

104+5.6=16 16 4
16+7=23 23

Hence, option (A) is correct.




Series Pattern Given Series
628 628
628 +4+3 =160 160
160+4+4=44 44
44 -4 +5=16 16 v

16+4+6=10 10
10+4+7=95 9.5

Hence, option (C) is correct.

Series Pattern Given Series

3 3
3x2-1 5
5x2+3 13
13x2-5 21
21x2+7 49
49x2 -9 89 v

Hence, option (B) is correct.

Series Pattern Given Series

43 43
43 + 288 331
331+144 475
475+ 72 547
547 + 36 583
583 +18 601 v/

Hence, option (B) is correct.

Series Pattern Given Series

3 3
3+5x1 8
8+4x2 16
16 +3x3 25 v
25+2x4 33
33+1x5 38

Hence, option (C) is correct.




10.

Series Pattern Given Series

2 2
2x15 3
3x2 6
6x2.5 15
15x3 45
45 x 3.5 1575 /
157.5x4 630

Hence, option (B) is correct.

Series Pattern Given Series

6474 6474
(6474-30)+6=1074 1074
(1074-24) +5=210 210
(210-18) + 4 = 48 a8
(48-12)+3=12 12
(12-6)+2=3 3

Hence, option (C) is correct.
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